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MATHS WORKSHEET [ EWEsE
January 17, 2021 GENERATOR 4 GCSES )
1) 361,50 - 1811, 2)  2280+95 3) 22 121.-1 34
Answer: Answer: Answer:
4) Solve13d?+18d-13=0 5) 28, x 192 6) 66757 -3902.8
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
7) 22197, + 381/, 8  Round 10.3to the nearest 100 9 97000+ 1000
Answer: Answer: Answer:

10) (3-14?) - (62 x 20

Answer:

11) Decrease 180 by Y/,

Answer:

12) Decrease 180 by Y44

Answer:

13) Share 86 in the ratio 67:19

Answer:

14) A number is chosen at random from
1to 75. Find the probability of
selecting factors of 20 and 17.

Answer:

15) Convert the following improper
fraction 1195 + 8/, into amixed
number

Answer:
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Answer:

mixed number

Answer:

16) 260,6x30,, 17) A number is chosen at random from 18) 32x 100
1 to 75. Find the probability of
selecting factors of 20 and 16.
Answer: Answer: Answer:
19) Round 14.07 to 1 significant figures. 20) Convert the following improper 21) Find perimeter of
fraction 13%/,, +331%,, intoa b rectangle having

sidesa=3092 cm
a and b = 1066 cm

Answer:

22) Find the mode of the following set of data:
4,4,4,23,23,23, 127,127, 127,
127, 127, 190, 190, 190, 190, 190,
190, 190

Answer:

23) A number was shared in theratio
52:90. The larger share was 45.
What was the smaller amount?

Answer:

24) 09:19 am To 06:30 pm

Answer:

25) Find the mode of the following set of data:

14, 14, 14, 14, 14, 26, 26, 174, 174,
174,174, 174, 193, 193, 193, 193

Answer:

26)  18x 100

Answer:

27) 122/}, x 302/

Answer:

28) 122/, x 30/

Answer:

29) Find the median of the following set of data:

6, 6, 18, 34, 13, 36, 38, 6, 30, 30, 2,
17,27,34,40,11,7,22,22,2

Answer:

30) 53518.8+ 866

Answer:
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31) A number ischosen at random from
1 to 75. Find the probability of
selecting factors of 17 and 16.

Answer:

32)  7483-4634

Answer:

33) A number was shared in theratio
98:3. The smaller share was 63.
What was the larger amount?

Answer:

34) Anamount was decreased by 9% to
$449.00. Find the original amount.

35) 23 2,-39 12/,

36) A number was shared in theratio
33:1. The smaller share was 71.
What was the total amount shared?

Answer:

Answer:

Answer: Answer: Answer:
37) 9599 - 7630 38) (9x8) x(20x 11) 39) Find perimeter of
b rectangle having
sidesa= 9942 ft

a and b = 9460 ft

Answer:

40) Share 66 in theratio 19:14

41) 25830 + 820

42)  539+11

Answer: Answer: Answer:
43) 539+ 11 44) 45) 34x10
Find Volume of
Hexagonal Pyramid
/37
Answer: Answer: Answer:
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46) 7809 - 3257 47) Y, x g 48) 16/, x 3714
Answer: Answer: Answer:
49) Find perimeter of 50) 51) Round 11.14343464051747 to 1

triangle s= 8676 cm

Find Volume of
Square Pyramid

significant figures.

Answer: Answer: Answer:
52) 35000+ 1000 53) 712« 7-3 54) 712% 73
76 76
Answer: Answer: Answer:

55) 7400+ 100

Answer:

Find Volume of
Pentagonal Pyramid
40

Answer:

57) 5 /g-36 g

Answer:

58) Convert the following improper
fraction 22/, + 31%, 5 into amixed
number

Answer:

59) 05:51 am To 02:54 pm

Answer:

60) 54525+ 727

Answer:
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61) 340+ 10

62) A number was shared in theratio
9:20. The smaller share was 81.
What was the larger amount?

Find Volume of
Rectangular Pyramid

Measure angle boa

Answer:

Answer:

Answer: Answer: Answer:
64) Find area of triangle 65) 0461.2 ~ 436 66) Find the median of the following set of data:
a=12%ft, b= 24,13,5, 28, 32, 8, 21, 38, 13, 33,
b ¢ 4214 ft 25, 37,34, 2,15, 13,7, 15, 10, 16
L
E|
Answer: Answer: Answer:
67) \ b 68)  05:46 am To 12:06 pm 69) 30/, + 387,
a o} c

Answer:

70) A number was shared in theratio
12:3. The smaller share was 6. What
was the larger amount?

Answer:

71) Find the mean of the following set of data:
4,71,15,95,3

Answer:

72)  17.6x44.2

Answer:

73) (-17) x (-96)

Answer:

74) A number was shared in the ratio
2:92. The smaller share was 22.
What was the total amount shared?

Answer:

75) 21.3x20.3

Answer:

Copyright 2021 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

January 17, 2021

Sr: 17012021-1915

MATHS WORKSHEET [ Shrs @

GEMERATOR

GCSES

76) 910+ 10

77) Convert the following improper
fraction 30/ + 217/g into a mixed
number

78) Findthevaueof 'j' by completing the
square of the following equation: 2 +
6 +8

Answer: Answer: Answer:
79) 28,-36,, 80) Increase 200 by 84% 81) Anamount was increased by 4.1% to
$300.00. Find the original amount.
Answer: Answer: Answer:
82) Find perimeter of 83) Round 28.560971647548650 to 11 84) Round 18.435709666 to 7 significant
b rectangle having decimal places. figures.
sidesa= 3816 cm
a and b =3202 cm
Answer: Answer: Answer:
85) Find the mean of the following set of data: 86) 11 15/20 -5 13/17 87) 2269 x 8993
42,30, 95,0.1,0,0.2, 98
Answer: Answer: Answer:

88) Simplify 32:85

Answer:

89)  Round 3.6 to the nearest 100

Answer:

90) 33 ,0-7 Y

Answer:
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91) 92) 93)
Find Volume of Find Volume of 31 Find Volume of
Hexagonal Pyramid Hexagonal Pyramid A Triangular Pyramid
/32 /32 40 38
31
Answer: Answer: Answer:
94) Find the value of 'f' by completing 95) 7536 x 7388 96) Round 25.4548852676 to 4 decimal
the square of the following equation: places.
2+ 10f + 16
Answer: Answer: Answer:
97) 21 4/6 -9 10/12 98) 7484 - 5767 99) Find the mode of the following set of data:
139, 139, 139, 139, 139, 120, 120,
120, 120, 120, 120, 38, 38, 38, 38,
102, 102, 102
Answer: Answer: Answer:

100) Find the mode of the following set of data:

163, 163, 163

Answer:

168, 168, 168, 53, 53, 53, 53, 163,

Total: /100
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1) 63/85
8) 10.3
15) 20/

22) 190

29) 16
36) 2414
43) 49
50) 11100

57) 61771y,

64) 2726458t

71) 37.6

78) (j+3)2-1

85) 37.9

92) 32811.970498585
99) 120

2)24
9) 97

5
16) 39/,

23) 26

30) 61.8
37) 1969

44) 45052.373555674
51) 10

58) 343,70

65) 21.7

72) 777.92
15,
79) 115/,
67
86) 587/gg
93) 6406.6666666667
100) 163
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61
3) 2168
10)
0,
179,

24) 09 Hours 11
Mins

31) %

38)

45) 340

52) 35

59) 09 Hours 03
Mins

66) 29

73)
80) 368

87) 20405117
94) (f +5)2-9

Answers:

4)d=050r-19 5) 4937/

11) 175
18) 3200

25) 14

32) 2849
39) 38804t
46) 4552
53) 73

60) 75

67) 62

74) 1034

81) $288.18
88)32: 85
95) 55675968

12) 175
19) 10

26) 1800

33) 2058
40)2:64
47) 1Y

54) 73

61) 34

68) 06 Hours 20
Mins

75) 432.39
82) 14036cm
89) 3.6

96) 25.4549

b

{ERA i

6) 2772.9
13)1:85
20) 47795,
27) 37018/
34) $408.59
41)315

48) 2%y
55) 74

62) 180

69) 4220/5383

76) 91
83) 28.56097164755
90) 261Y,4

97) 115

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7 "y
14) %,
21) 8316cm

28) 37018/,

35) 321

42) 49

49) 26028cm

56) 36703.517879231

63) 20800

70) 24

77523

84) 18.43571

91) 32811.970498585
98) 1717
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